ntersection of the planes
, x—y+z+1=0 and
srsection of the planes
x—y+2z—1 =(), then
rlg'l.l'l from the Plﬂ-ﬂﬂ‘.r
: L‘T. and L:gr is @

ded by the curve
5 X = o, X= ﬁ and
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C
i

] Il_i

*‘ &iﬁﬁd’.};ﬂ'g

X et

™~ -7-
—aa

Let the orthowntr iﬂ ce '.fr". '
triangle be A(- 3';J| an

If C is the cik@«ﬁm of

n the - < rd_g
egme ‘ ster, is -

2 2) 1o

sin? x cos’x dx P
-" (slIl 5% +cos xsinx+8in’x OS2 +C0s°x)" (3) 2v10 ;ru;v\
is equal to ; o 5 ,; %
| 1 ) Y2 A
1'15 @ 1 + cot’x hE /
M | | 12. If the tangent at (1, 7) to the curve
g’ Y : +C x2=y-6 touches the  circle
(7 31+ rany) x2+ Y2+ 16x + 12y + =0 then the value of
O +C cis:
(3) 301 +tan®x) (1) 95
. (2) 195
—--*l—r & (3) 185
(8) 1 +cot'x BiiE

ereCisa constant of integration)
SPACE FOR ROUGH WGRK - z&y - :

(wh




1

|
i
|

3 ,,9_
s |
Y 1“' ! ey

perbola

. N =DPR=200 M. £ ‘ar ‘_'4._;. o i
-'F\ 5 LO‘prk:-alE the'#aﬂgles °f 1 41_1 1"' "'"‘,:fs ‘ :‘1.3‘],:4.. If these

bint '(; ?) S

ri‘.tha top of the tower at P Q|

resp'e&iﬂety 45°%, 30° and 30 .‘
lﬁ. 2 ’helﬁbfﬁ\btawe i is @

. "SU

J

@ 100

@) 50
@ 10053 TN

From 6 different novels an

15. If Z(x -5)=9 and Z(xl -52 = dictionaries, 4 novels and 1 Qictionar are T
=1 = 0 be selected and arranged in o :
then the standard deviation of the 9 jtems shelf so that the dictionary is ;)
Xio Xgy conee Xy 15 ¢ the middle. The number o

arrangements is :

1 3
(1) at least 750 byt less than 1000
2) 9
) (2)  at least 1000
oF 4 . (3)  less than 500
i (4) atleast 500 byt less than 750
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19. If the system of }

() & (an empty set)

' m'- x:s équal to G 10
: g | 4) =} ; &
' I "“#\ AL
-5) n R mss The Bbqi_ean ex,p_re,sslq'n e
e ~~(Pvq) V(- pAq) isequivalent to*
1) ~q
(4) ™(-4,5) @ ~p
3) p
Two sets A and B are as under : 4) q
A={(a, b) € RxR : [2 -5/ < 1 and 25. A straight line through a fixed poinf (?, 3)
lb—S| <1 intersects the coordinate axes at distinct
. - f O is the origm and the
B=((a, b) e RXR : 4(a—6)2+9(b—5)> points P and Q. I- 5 i
< 36). Then: % ng 5
us o -
(1) neither Ac Bnor B A (1) 3x+2y=6xy
(2) Bc A (2) 314'2]/“6
(3) 2xv+3y=1y
M REE (3) 3Bx+2y=xy
@) AnNB =& anemptysed =
SPACE FOR ROUGH WORK = o
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4
@ 35
-8
@ 3B"
8
W=

on of the line
D, -—1, 4} and

= 18

A Il e
:éu' 4k+1 =416 and ag+ B — ¢

af +al 4
equal to :
1 33
) 66
(3) 68
(4) 34

--+'ﬂ%? =14ﬂml &lE’. n 15
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Ty&ye*y?mte& B854 3 4w

-1 A
2 ;&:;%%%%_“

5, B






